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NMonHOCTbLIO 3KBUBaNeHTHbIe
KOMaHAabI

AN

mov al, -1 mov al, 255

unsigned char

3HakoBble 1 be33HaKoBble TUMbI

KomaHgbl mov, add, sub He
pas3nnyatoT 3HaKOBbIE U
0e33HaKoBble TUMbI

1 255
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#include "stdafx.h"

int _tmain(int argc, _TCHAR* argv[])

{

char isOverflow;
__asm
{
mov al, -1
mov bl, -1
add al, bl
mov isOverflow, 1
jo exitl; CuyuTaem, 4YTO 4YuCNa CO 3HAKOM
mov isOverflow, ©
exitl:
}
if (isOverflow) printf("Overflow\n");
if (!isOverflow) printf("Not overflow\n");
return 9;

#include "stdafx.h"

int _tmain(int argc,

{

char isOverflow;

___asm

{
mov al, 255
mov bl, 255
add al, bl

mov isOverflow, 1

jc exitl; Cyutaem, 4yTo uyucna bes 3Haka

mov isOverflow, O
exitl:

b

if (isOverflow) printf("Overflow\n");
if (!isOverflow) printf("Not overflow\n");

return 0;

[Npnmepsbl

_TCHAR* argv[])

jo — KoMaHaa
YCITOBHOIO nepexoaa.
[lepexop B criyyae
3HAKOBOIo
nepenosiHeHus

jc — komaHga
YCITOBHOIO rnepexoaa.
[lepexon B criyyae
nepeHoca 3a
npeaensl paspagHomn
CETKU




